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SECTION - A
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i) General Awareness

Which of the following statements is
true regarding alluvial soils ?

1. Iltis rich in nitrogen.
2. Not ideal for sugarcane cultivation.

3. Alluvialtracks are intensively cultivated
and densely populated in India.
Select the correct answer.
(A) Only 1 (B) Only 2
(C) Only 3 (D) All the above

Which of the following is incorrect of
their formulation ?

(A) Wildlife Conservation Act — 1972
(B) Project Tiger — 1973

(C) Project Elephant — 1992

(D) Environment Protection Act — 1984

Atal Bihari Vajapayee, had been a
Prime Minister for

(A) One time (B) Two times
(C) Threetimes (D) Four times

Consider the following statements
about pulses cultivation

1. Need less moisture.

2. Can survive in dry condition.

3. India exports pulses more than its

import.
Select the correct answer.
(A) Only 1 (B) Only 3
(C) 1and2 (D) 1and 3

Match List — | with List — Il and select
the correct answer using the code
given below the Lists.

Minerals Mine
1. Zinc — a. Amjhore
2. Gold — b. Sukinda
3. Chromite — c. Zawar
4. Pyrite — d. Hutti
Codes :
(A) 1-a 2-b 4-c¢ 3-d
(B) 3—-a 2-b 4-c 1-d
(C) 3-a 4-b 2-c¢ 1-d
(D) 1—-a 4-b 2-c¢ 3-d

& -2-

6.

- 10.

As per Census 2011, which one of the
following is the correct descending
order of States in India is respect of sex
ratio [female per thousand of males] ?
(A) West Bengal>Madhya Pradesh>
‘Uttarakhand > Jammu and Kashmir
Madhya Pradesh > West Bengal >
Jammu and Kashmir > Uttarakhand
Uttarakhand > West Bengal >Madhya
Pradesh > Jammu and Kashmir
WestBengal > Uttarakhand > Madhya
Pradesh > Jammu and Kashmir

(B)
(©)

(D)

‘SAMPRITI - 2017’ is a joint military
exercise between armed forces of India
and

(A) Bhutan
(C) Pakistan

(B) Bangladesh
(D) Myanmar

Infrared, visible and ultraviolet radiations/
light have different properties. Which
one of the following statements related
to these radiations/light is not correct ?
(A) The wavelength of infrared is more
than that of ultraviolet radiation.
The wavelength of ultraviolet is
smaller than that of visible light.
The photon energy of visible ligr
is more than that of infrared light.
The photon energy of ultraviolet i<
lesser than that of visible light.

World Development Report is issued
by

(A) IMF (B) World Bank
(C) WHO (D) UNDP

Read the following statements

1. During 1951 India’s literacy was 18%.

2. 2011 census female literacy is 65.46.

3. 2018 — 19 budget allocation for
education is nearly 3.5% of GDP.

Select the right answer.

(A) Only 3 (B) 1and2

(C) Allthe above (D) 2 only
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14.

Which of the following is not a
quantitative tool of money supply used
by the RBI ?

(A) Bank rate

(B) Repo rate

(C) Open market operation

(D) Margin requirement

Which of the following is/are example/s
for money ?

1. Currency notes and coins

2. Savings account deposits

3. Time deposits

4. Current account deposits
Select the right answer.

(A) Only 1 (B) 2,3and4
(C) Allthe above (D) 1,2and4

When the sun is near the horizon during
the morning or evening, it appears
reddish. The phenomenon that is
responsible for this observation is

(A) reflection of light

(B) refraction of light

(C) dispersion of light

(D) scattering of light

Find incorrect statement(s) about light
and optics.

1. Due to reflection of light, the sun
is visible a little before the actual
sunrise and until a little after the
actual sunset due to refraction of
light through the atmosphere.

- 2. Mirages are creates by total internal

reflection of light between layers of
hot air.

3. Anobservercan see a rainbow only
when the sun is at 90 degrees to
his shoulder.

Select the correct answer :
(A) Only 1and2

(B) Only2and 3

(C) Only 2

(D) 1and 3

15!

16.

17

18.

19.

20.
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Sound waves cannot travel through a
(A)
(B)
(©)
(D)

Copper wire placed in air
Silver slab placed in air
Glass prism placed in water

Wooden hollow pipe loaded in a
vacuum

Ultrasonic waves are produced by
making use of

(A) ferromagnetic material
(B) ferrimagnetic material
(C) piezoelectric material
(D) pyroelectrical material

Which one of the following places in
India receives the lowest rainfall ?
(A) Ran of Kuchch

(B) Vidharba region

(C) Ladakh

(D) Jaisalmar

Guijjars, a pastoral community, are
associated with which one of the
following States of India ?

(A) Guijarat

(B) Rajasthan

(C) Jammu and Kashmir

(D) Sikkim

Total gold medal bagged by India in
the recently held ASIAD 2018 is

(A) 14 (B) 15

(C) 16 (D) 17

Ranapratap Sagar Hydroelectric Plant is in
(A) Uttarakhand

(B) Himachal Pradesh

(C) Rajasthan

(D) Punjab
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ii) General Intelligence and Reasoning Ability

Statement : Should school education
be made free ?
Arguments :

l. Yes, this is the only way to improve
the level of literacy.

No, it will be a burden to the
exchequer.

Which of the following is a strong
argument ?

(A) Only | is strong

(B) Only Il is strong

(C) Eitherlor Il is strong
(D) Bothland Il are strong

Statement :
Some hens are cows.
All cows are horses.
Conclusions :
I. Some horses are hens.
Il. All hens are horses.

Which of the following definitely follows ?
(A) Only | follows

(B) Only Il follows

(C) Either | or Il follows

(D) Neither | nor Il follows

When the paper below marked with
letters and numbers are folded, what

will be opposite to 0 ?

L
N| M| 2
1o
(A) L (B) M
(C) N (D) 2

24. A certain number of horses and
an equal number of men are going
somewhere. Half of the owners
are on their horses back while the
remaining are walking along leading
their horses. If the number of legs
walking on the ground is 70, how
many horses are there ?

(A) 10 (B) 12
(C) 14 (D) 16

(25 — 29) : Read the following information
and answer the questions.

The director of the institute has announced
that six guest lectures on different areas like
Leadership, Decision Making, Quality Circles,
Motivation, Assessment Centre and Group
Discussion are to be organised once on each
day from Monday to Sunday.

Motivation should be organised immediately
after Assessment Centre. Quality circle should
be organised on Wednesday and should not
be followed by Group Discussion. Decision
making should be organised on Friday and
there should be a gap of two days between
leadership and Group Discussion. One day
there will be no lecture (Saturday is not that
day), just before that day Group Discussion
will be organised.

25. Which of the two lectures were organised
on first and last day ?
(A) Quality Circle and Motivation
(B) Leadership and Assessment Centre
(C) Group Discussion and Quality
Circle

(D) None of these
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26. How many lectures are organised

27.

28.

29

30.

between Motivation and Quality Circle ?
(A) 1 (B) 2
C€) 3 (D) 4

Which day will the lecture on
Leadership be held ?

(A) Tuesday

(B) Friday

(C) Wednesday
(D) None of these

On which day there is no lecture ?
(A) Tuesday

(B) Friday

(C) Wednesday

(D) None of these

When is lecture on motivation held ?
(A) Sunday

(B) Monday

(C) Tuesday

(D) Wednesday

A, B and C are three mountaineers.
A is B’s brother. B is C’s brother. C
is not A’s brother. Therefore C is A’s
sister.

(A) False

(B) Probably false
(C) True

(D) Can't say

31.

32.
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Statements :
l. | surf internet only when | am bored.

Il. 1 am never bored when | have my
friend’s company.

ll. Whenever | go for holiday, | take

my friends along.

Choose the conclusion which logically
follows the statements.

(A) If 1l am bored, I surf internet.
(B) If I am not bored, | do not surf
internet.

(C) If I am not with my friend, | surf

internet.

(D) If I am bored, | go for holiday.

Statement : Incessant rain for the
past several days has posed the
problem of overflowing and flood as
the river bed is full of silt and mud.

Courses of action :

I. The people residing near the river
should be shifted to safe place.

Il. The people should be made aware
about the danger through media.

lll. The silt and mud from the river bed

should be cleared from the river
bed immediately after receding of
the water level.

Which of the following follows ?
(A) Only | and Il follows

(B) Only Il and Il follows

(C) None follows

(D) All follows
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Statement : “If you want to study
management, join institute X" — A’s
advice to B.

Assumptions :
I. B listens to A’s advice.

Il. Institute ‘X’ provides good
management education.

Which of the following assumptions
are implicit ?

(A) Only | is implicit

(B) Either | or Il is implicit
(C) Neither | nor Il is implicit
(D) Both | and Il are implicit

if BOMBAY is written as MYMYMY, how
will TAMILNADU be written in that code ?

(A) ALDALDALD
(B) MNUMNUMNU

(C) TIATIATIA

(D) IATIATIAT

Find the missing letters in the pattern
__eeec ¢ de d

(A) ccecdeddd
(C) cdcdcdced

(B) ddddcccce
(D) ccedeced

Pick the wrong number in the sequence
36, 20, 12, 8, 6, 5.5, 4.5

(A) 5.5 (B) 6
(C) 8 (D) 20

Complete the analogy, Ocean : Water
:: Glacier : ?
(A) Mountain
(C) Cave

(B) Snow
(D) Field

-10-
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How many words are listed in the
1280 page dictionary ?
Statements :

I. Page 387 lists 200 words.

ll. There are 2000 words listed
under ‘A’.

Question can be answered by one
of the statements alone but not by
the other.

(B)

Question can be answered by
either statement alone.

(C) Question can be answered by using

both the statements together.

(D) Question cannot be answered by

either of the statements.

Complete the matrix :

12 15 21
8 7 26

?2 | 41 | 34

(A) 41
(C) 47

(B) 60
(D) 51

While going towards the East, Tilak
reached a crossing. He wants to go to
University. The road opposite to him
leads towards a market, the road left to
him leads towards a community park.
In which direction is the University ?
(A) East (B) West

(C) North (D) South
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THETAT Y01 3, TETATR : e 3 TR ; 7
(A) T=TEt (B) %

(C) THI (D) @d

A1-

38.

39.

40.
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1280 Jei o YIeahieT § foha I1s8 H=ht
&5 B 7
HIH

. U5 387 H 200 o5 Fierg B B
Il. A 3Fqd 2000 Y158 GEiwg 2|
T9 I I TH HYA g el T
ST Hehdl 2 | Tg T8 R &
T 1 ST EHT H G fore oft e gry
3Tehet T 1T Hemam 1

U39 1 I SEI FUAT ) TH-91Y
TR ek TedT ST HehdT |

foreft oft o @ oA o1 I T
S G |

ST 01 . |
15
8 7
?2 | 41

12 21
26

34

(A) 41
(C) 47

(B) 60
(D) 51

el =1 3R S e, foee O i m
Tl & | 98 fovafemmers ST = € |
3G HTH TS Ueh STSTR 5 ST & | 39k
T T TS TETh Ureh &l AR S 2 |
fervaferames -t fesn a2 ?
(A) o (B) dfe=m
(C) W (D) =feor



41.

42.

43.

44,

45.

46.
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iii) Arithmetical and Numerical Ability

A train runs at a speed of 28 kmph for
4 hours and at 30 kmph for 5 hours and
the remaining 48 kms in 1 hour. What
Is the average speed in kmph ?

(A) 30.2 (B) 40
(C) 30 (D) none of these

Divide 36 into two parts, such that the
sum of the reciprocals is %3 )

(A) 25, 11
(C) 10, 16

(B) 24,12
(D) 14,22
When 40% of a number is added to

42, the result is the number itself.
Then, the number is

(A) 50 (B) 60
(C) 70 (D) none of these

What percent is 7 paise of Rs. 75 ?

(A) 287 (B2,

(C) %5 (D) none of these

The perimeter of a semi-circular
plate of diameter 14 cm is

(A) 22cm (B) 30cm
(C) 36cm (D) 40cm

The sum of the ages of a father and
his son is 45 years. Five years ago,
the product of their ages (in years)
was 124. Their present ages are

(A) 36,9 (B) 40,5
(C) 24,155 (D) 35,10

-12-

47.

48.

49,

50.

51.

Ms. Sonika invested Rs. 6,000 for
3 years and received Rs. 1,080 as

interest. Then, the rate of simple

interest is
(A) 7% (B) 8.5%
(C) 6% (D) 10%

In what time will Rs. 4,000 at 3%
simple interest produce the same
income as Rs. 5,000 in 5 years at 4%
simple interest ?
(A) 8years

(C) 8.33years

(B) 9years
(D) 10 years

What quantity must be added to
each term of the ratio 8 : 15 so that it
becomes equalto 3:5 ?

(A) 3 (B) 4

(C) 2.5 (D) none of these
X

If X2 + 6y2 = 5xy then e

(A) 20r3

(B) 2or4

(C) 1or3

(D) none of these

is

9)“%

Value of [Z-
(A 274

(©) 24

B %
©) %



41.

42.

43.

44,

45.

46.
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iii) ST Ue BEATCHS DAl

T T 28 TR, wfy wer i nfq @
4e=erde, O 30 . wfeserhimfaa
5 %2 3R =<l g 48 ., ufe Her i
T | 1 HeT Tt ® | R ufy e
Sreq fd = R ?

(A) 30.2 (B) 40

(©) 30 (D) ¥ =5 T
36 %I a1 97T ¥ 36 WehR 91U o6 sy
FAT Yo B |

(A) 25,11 (B) 24,12

(C) 10,16 (D) 14,22

STs] Ush HEAT 1 40 % 42 | SIer S 2,
IR 98 37 & Bl ®, 9 9 ®
(A) 50 (B) 60

(C) 70 (D) 37H 8 ®I et

798 75 %. %1 foha wlcera 2 7
(A) 28, B) g
(©) % (D) ¥ & =¥ e

SATE 14 9.1, 3} Uk i avad) i
afmg 2

(A) 223, (B) 30 % ..
(C) 36 8.4 (D) 40 9.1,
T e 3R ST T Sl ST e A 45 9 R |

W‘ﬁa&qﬁ,mﬁa@(aﬁﬁ)ww
124 o1 | 761 FATH 311G &

(A) 36,9 (B) 40,5
(C) 24,155 (D) 35,10
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47,

48.

49.

50.

51.

gefl |t 4 3 ant % 7w %, 6,000
Trerer T 3T saT w9 H 1,080 %. 9T
TR, 1 TRIRYT =TS Sl &Y a o 7

(A) 7% (B) 8.5%

(C) 6% (D) 10%

%. 4,000 3% HTURUT 52T W fehe g5
T 301 31 Ietfea i) e 5. 5,000
5 N1 H 4% HTET SATS] UL i) ?

(A) 838 (B) 9oy

(C) 8.33a% (D) 10a%

FIITA 8 : 15 % Joish Ug H 1 STl S0

fFaE3: 58w ?
(A) 3 (B) 4
(C) 25 (D) T | IS TE

X
IS x2 + 6y? = Sxy ql N

(A) 2313 (B) 2314
(C) 1713 (D) ¥4 @ =IE T
9 %

(A 277
©) %

B %

©) &,



el

52. The largestinteger which divides 105

53.

54.

95.

and 315 is
(A) 315 (B) 15
(C) 105 (D) 5

Compound interest on Rs. 18,000 in
2 years at 15% per annum interest is
(in rupees)

(A) 5,000
(B) 5,805
(C) 4,500
(D) None of these

Twomen X and Y start from a common
point. X walks at 5 km per hour
and Y walks at 4 km per hour. How
many kilometers will they be apart
after 3 hours if they walk in opposite
directions ?

(A) 3 kms
(C) 27 kms

(B) 9 kms
(D) None of these

A sum of Rs. 41 was divided among
boys and girls. Each boy gets 90 paise
and each girl gets 65 paise. If there are
altogether 50 children, find the number

of boys (B) and girls (G).
(A) B=34,G =16
(B) B=16,G =234
(€ B=25G=25
(D) B=30,G =20
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56.

o7

58.

59.

60.
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The average of 49 items is 24 . If one
more item is added to them, then the
average becomes 24.5. Then, the
value of the 50" item is

(A) 50

(B) 25

(C) 49

(D) None of these

The selling price of an article is
Rs. 3,680 and profit percentage is
15%. The cost price of the article is

(A) Rs.2,200 (B) Rs. 3,200
(C) Rs.3,000 (D) Rs. 4,000

In a class of 50 students, 15 do not
participate in any games and the rest
play atleast one of two games Hockey
or Kabaddi. 25 play Hockey and 20
play Kabaddi. Find the number of
students who play both.

(A) 45 (B) 10
(C) 15 (D) 30

Which of the following is not a rational

number ?
A) 2 ®) -%
(D) =

©) 0

If the surface area of a sphere is 2464

cm?, then its volume is
10976 3
3 nem

10000 3
ncm
A

10°
——tCM
3

(A)

(B)

(C)

(D) None of these



s ko

52, 98 ggu™ YUliss S 105 3R 315 .

53.

54.

55.

IER ISR G
(A) 315 (B) 15
(C) 105 (D) 5

% 18,000 H 2 a9 H 15% 9fd a9 W
g g SIS & (391 H)

(A) 5,000 (B) 5,805

(C) 4,500 (D) T8 & IS T

21 AR X R Y w3 g A gw
FE | X5T6H. sl grmaam e sin

Y 46 uf g muea d e

TTe o Tehei foret sftex e afe o feroefra
femeti A wea & ?
(A) 3Tw.a.
(C) 27 f& ..

(B) 9T
(D) T A I TR

%. 41 F U TR e AR ekl 3
fersmore < 8 | sredien ek = 90 B
3R TS Feh 1 65 T ferd & | 3R
50 5= & I @S (B) 3T wisferdl (G)
=h! T 719 K |

(A) B=34,G=16

(B) B=16, G = 34

(C) B=25,G =25

(D) B=30,G =20
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56.

7.

58.

99,

60.
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49 TIS1 1 3T 24 2 | Afe 78 T 3K
g e oo S 8, 1 offea 245 &
ST 2 | A 50 we & g B

(A) 50 (B) 25

(C) 49 (D) 378 & iE T
Ush SR 1 Torsha et %, 3,680 ® 37N
AT TRTA 15% © | S 1 363 ol &
(A) %.2,200 (B) ¥.3,200

(C) %.3,000 (D) %.4,000

50 farenfefart it w e A, 15 et @@
T o T A IR et g A1 Feg Sl
T ¥ Y H FH TH TAd § | 25 Siehl @erd
&, 20 FeE! Werd & | 37 forenfa i g

I L ST SF1 T Ted © |
(A) 45 (B) 10
() 15 (D) 30

Fefcid 7 & Sm-H ofte gen T ?

®) -%

(D) =

(A) 2
(C) O

afe Te Tt 1 SR Shet 2464 . 2
2, < SHRT TR B
A wﬁn 3
(A) - a1

%Tc E= s K

(B)

5
10° 3.
3



61.

62.

63.

64.

65.

66.
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iv) Hindi Language and Comprehension

= W s Ay
ot g SR 39 9 5 I 67. fr=fcifaa wsel =i S9eht sl & =g
2 e |
(A) fersior (37) (=)
(B) afeqar=ies HF 1. =reft 3. 2
(C) WreaT=® G 2. Hgh 3T, W) a2
4. @ 5. ToEmear 8
IS, I eI | (A) T~ 2T B—31 43
(A) Er e =l (B) 137 2—;? 3-3 4-3%
B) TH 9gle W gl C) 1-3F 2- 3—-% 4-37
:C; 7S e B 1= 2-3 B-3 4-30
(D) & 7 §r 43 68. fr=foiRaa ‘1’ wmt & wsai &t | 9
“reft a1 & 71 1o wgeeE | B © o Yeal A TS|
(A) BT} 37TaT 21 (B) ®RR oW 2 (ma)ﬁ (@)
C) =refid 3 1 (D) B9 AW 2 1. ISl 3. MR
( ). : : ) 2. HynfRaAI 1 AT, HIGa
T gfee e 8 3. AR & 3. B
(A) T, T, s 4. TG H -
(B) TSI, TEATST, ShIfvTST (A) 1—31 2—3 3—-3 4-%
(C) AT, e, (B) 1-3 2~§ 3-3 4-
€ 1-3 2- 8—37 4— 3T

(B) Sl e @) =2 2-% 3-3 437
el 60 3+ % = Wy TR ARG 7
(A) @M (B) ferzrm (A) =i g (B) foret wfy
(C) et (D) ®F (C) T &l (D) srfe Efy

70. FEfafeada s’ wee o oaigar

“r@1 | = geer TR 38 A H CSTET
Y7

(A) forrafe siae

(B) fosiyur

(C) Tora ferrmm

(D) ga=™

-16-

71

(B) it

(D) 3rafeE

e wh A = ‘Prenfd’ am -
T R 7

(A) HHURT TUE (B) g5 9
(C) ¥=fvim (D) weslife o



72.

73.

74.

75

76.

VT

™07 3 HH I AR 39 9199 T R
W:%

(A) ®H, O (B) I, TYEH
(C) =<, ®wH (D) ®Ew, Hui

TR i Tl & 27 S AR e

(A) TRER | e '

(B) Tt = T Ty ot

(C) T i TR oft)

(D) Tsft T T

G YR T g R ?

(A) T (B) 3uE

(C) R (D) HH™

3 9T % Ireal | 9T F vl &

1y Sife)|
(37) (F)

1. SE g SET e qaa% 1. TS

(A) <RIt

23
2.3
23 337
23 3%

A7-

78.

79.

80.
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A T UG e e ST ST I
BT

(A) HIEd g&aeh T |

(B) HIg J&dsh UGl T |

(C) HiE ¥ Y& Te 9 ¢ |

(D) TieT & TEas T S 2 |

Siige fofia
() (=)

1. 25 A, ITBEH
2. 78 Al F=H
3. 38 3. 3
4. 54 3. oTedig
5. 29 3. Heq
(A) 1-3T 2-3F 3-F 4-3 5-%
(B) 1-3 2-3 3-3T 4-3 5-%
(C) 1-8 2-3 3-3M 4-3 5-%
(D) 1-3 2-37 3-3 4-3 5-3
Frefafad gerert it @@t o1l & @iy
Sife|

(=) (=)
1. Q-qEF S 37 gl e U
2. UBTS T AT, gt SSMT
3. ST 3. I HE
4. faeefizermm €. <o o
(A) 1-3T 2-3 3-3 4-%
B) 1-3 2-3F 3-3% 4-231
€) 1—% 2-—3 3-% A-—3
Dy 1—-3A 2-3 3-37 4-%



Use the correct verb and fill in the blanks.

81.

82.

83.

MKG-XIV/TECHPET/1T/03

v) English Language and Comprehension
SIS T SR e

The clock has five.
(A) strike

(B)
(C)

(D)

struck
stricken
stroke

Theyhave
(A)
(B)
(C)
(D)

the sheep.
sheared

shorn

shear

shearn

Christ his crucifiers.
(A) forgive

(C) forgot

(B) forgave
(D) forgiven

Add suitable question tags.

84.

85.

| needn’t get up early tomorrow
?

need |
do |
don’t |
should |

(A)
(B)
(C)
(D)

Have some more rice, 74

(A)
(B)
(C)
(D)

do you
don’t you
will you
can’t you

87.

88.

-18-

89.

(A)

(B)
(C)

(D)

Complete the following sentence using
correct options.

86. The gem is too small

that it can’t be seen with the naked
eyes.

to be seen with the naked eyes.
for seeing it with naked eyes.

that nobody could see it with naked
eyes.

As soon as the speech started,

(A)
(B)
(©)

(D)

then the demonstrators rushed to
the platform.

when the demonstrators rushed to
the platform.

the demonstrators rushed to the
platform.

than the demonstrators rushed to
the platform.

Fill in the blanks with suitable preposition.

| shall be glad your
co-operation in this matter.

(A)
(B)
(C)
(D)

Don't hanker

of
for
with
at

wealth and

position.

(A)
(B)
(C)
(D)

in
after
for
by



90. He dwelt at some length
the problem of student unrest.

(A) in
(B) for
(C) on
(D) through

Fill in the blanks with correct idiom.

91.

If you see a bull in the pasture,

(A)
(B)
(C)
(D)

92.

make yourself abundant
make yourself invisible
make yourself seen
make yourself scarce

That was a the bus nearly
hit the cyclist.

(A)
(B)

(©)

Select the

wrong.
93.

94.

(D)

(A)

(B)
(©)

close catch
far call
close signal
close call

sentence which is grammatically

Nobody known it better than
me.

You may do as you please.

| am so deaf that | cannot hear the
thunder.

He is older than he looks.

Each of these substance is found
in India.

Either you or he is mistaken.
Many a man does not know his own
good deeds.

Sanskrit, as well as Arabic, was
taught there.

MKG-XVTECHPET/1T/03

Select the antonym of the given word.

95. EVOCATIVE

(A) eventful (B) callous

(C) evoke (D) charitable
96. ACCEDE

(A) demur (B) proceed

(C) acquiesce (D) recede

Change the following sentences to
affirmative.

97. Ram is not so foolish as you think.
(A) Ram is a wise person.
(B) Ram is not very wise.
(C) Ram is wiser than you think.
(D) Ram is not wiser as you think.

98. |don’t possess anything else.

(A) This is all | possess.
(B) My possession is not much.

(C) My possession are not better than
others.

(D) None of the above .

Pick out the word that is most nearly the same .
in meaning as the words in capitals.

99. VICARIOUSLY
(A) loudly
(B) daringly
(C) with deliberation
(D) by substitute

100. REPEAL
(A) to pay back
(B) undress
(C) say again
(D) withdrew

-19-
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SECTION - B
Post Specific Subject — Related Questions
101.  Physical Education also known as 105. The fitnessgram paces fest assess
(A) Gym what aspect of fitness ?
(B) Cardio Class (A) Flexibility
(C) Strengthening Class (EiSMusetlarsistiength
(D) Psychomotor learning (C) Cardiovascular endurance
(D) Muscular endurance
102. Physical Education is an important
component to lead a 106. Physical activity is basically a
(A) Good Fitness (A) Social attribute
(B) Social Status (B) Psychological tendency
(C) Healthy lifestyle (C) Biological necessity
(D) Strong body (D) Philosophical concept
Ly Proguctor and sports is
&l (A) Swimming
(B) Conditional ability (B) Gymnastic
(C) Total Personality (C) Athletics
(D) Tactical ability (D) Combatives
104. Who said a sound mind a sound 108. A physical education teacher now a
body ? day is essentially
(A) Descartes (A) An instructor
(B) Rousseau (B) A movement educator
(C) Aristotle (C) A drill master
(D) Plato (D) All of the above
*



101.

102.

103.

104.

O —

U Tafier fawe—aasht oo

I e = fwed 2 |
(A) 5=
(B) whifSar =ham

(C) HSTeclt e
(D) HAINT ST

Th T e
T HEwqu] 92 @ |

(A) oT== Bga

(B) @I fedfy

(C) Xy i3]

(D) TS IR

e fiomes . wi3y-see R |
(A) =l

(B) @uTferes e

(C) Tvl SAferiesl

(D) HtferTa T

TR T Ueh ey IR U T8y
Tfedses ?

(A) <THEH

(B) w=

(C) &
(D) =<

105.

1086.

107.

108.

=-21-
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T 7Tfer g d5d % -8 Tgq.
o1 HealTeh Tl 2 7

(A) erefiera

(B) wrewsi Teteeht

(C) weaTRt HEefierar

(D) #rEUsia veefierd

WRITG foha smemye w9 9 v
R

(A) BT 1o

(B) W S

(C) Siferss smavasdn

(D) <TSifIer Heheun

TR B ST Hehe T o STTER, Tt
Oell AN EHEA H S
(A) AT

(B) feemfees

(C) uucifeam

(D) FHrafeem

ok AT fR1eq fverss srstenet v
9 T TH T

(A) T frevETar

(B) T ifa freren

(C) U 31 HRE

(D) 3o |t



LR

109.

110.

111,

112.

Which one of the *o__oém:@ concepts
reflects the true nature of modern
physical education ?

(A) Physical training

(B) Science of movement

(C) Movement education

(D) Athleticism

The most important factor in the
organisation of recreation is

(A) Materials

(B) Leadership

(C) Facilities

(D) Planning

How should you open the airway of
an unconscious causality ?

(A) Head till and chinlift
(B) Jaw thrust

(C) Head till and Jaw thrust
(D) Lift the chin

How long would you check to see if
an unconscious causality is breathing
normally ?

(A) No more than 10 seconds
(B) Approximately 10 seconds
(C) Exactly 10 seconds
(D) Atleast 10 seconds

-22.

113.

114.

115.

MKG-XVTECHPET/1T/03.,

What is the cause of angina ?

(A) Insufficient blood reaching the

lungs

(B) Insufficient blood reaching the
brain

(C) Insufficient blood reaching the

heart muscles

(D)

Insufficient blood reaching the

leg muscles

What should a causality with a

severe allergy carry at all times ?
(A) Insulin

(B) Acetaminophen/Paracetamol
(C) Advenaline (Epipen)

(D) Aspirin

Which medical conditions will

develop from severe blood loss ?
(A) Shock

(B) Hypoglycaemia

(C) Anaphylaxis

(D) HP hypothermia

F



109. Tmafifad 3 @ s -4 deeuat

110.

111.

112,

FYgfe IR e =1 arafas
AT g9l 8 7

(A) IR fdreqor

(B) Tf =1 fargmo=

(C) et fRvem

(D) Twefledm

Rt % e & watf TE

FRFE ?
(A) Tered
(B) g

(C) Fforamd
(D) AT

Tsh IR SAfad T ITgHT STueh e
YR @it =iy ?

(A) TR TRt 27 31l 33T

(B) V&2 W&

(C) T&X oot 3R Sele W o oot
(D) B3Il 3BT

39 fohm YR 2@ T wa Saty =g
TG A= ®9 8 o W@E a1 T8 7

(A) 10 Ghe & ARIF e
(B) T 10 Tehe

(C) 3% 10 e

(D) 9 ¥ FH 10 Yhe

113.

114.

il S:
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I I HRT T 2 7

(A) HHS! T AT T TGl
(B) HTREdTSh e STUTE T TE=HT
(C) &= HieufmEl T Ut T
(D) 2iTi <t ATEufie oo Sraai

o

qg<-l

T TR verstt @ difea safe st
Y e FT A I I ?

(A) Tgfer

(B) TfERIfiHI®A /aidemiet
(C) wgfarfer (whiem)

(D) TR

ST T B & i &
Fafercashan feufa forefya anft ?

(A) T
(B) wEumesRifE
(C) diemfea

(D) Tt ETEwfiy



116.

A7

118.

112

What is fain ?

(A) A response to fear

(B) An unexpected collapse

(C) A brief loss of consciousness

(D) A sign of flu

State the key action involved in
stopping any bleeding

(A) Elevation
(B) Cooling
(C) Cleaning

(D) Pressure

Identify which of the following terms
does not describe a type of fracture ?

(A) Greenstick
(B) Compound
(C) Simple
(D) Infused

Identify which of the following terms
does not describe a type of wound ?

(A) Infused
(B) Incised
(C) Confused

(D) Puncture

120.

121.

122.

123.

MKG-XI/TECHPET/1T/03

Name the substance in the list that
can be used to treat wasp stings

(A) Water
(B) Bicarbonate of soda
(C) Hydrogen peroxide
(D) Vinegar

is your body’s ability to
meet daily demands.

(A) Physical fitness
(B) Health
(C) Emotional Fitness

(D) Fitness

Aerobic exercise strengthen your
(A) Heart
(B) Mind
(C) Soul
(D) Body

Aerobic exercise provides muscles
with more

(A) Oxygen
(B) Flexibility
(C) Calories

(D) Water



116.

117

118.

119.

fFrafafiga 8 @ F9-91 2 tF YHEL F
9T Tl SARATII TE el ? Te=T |

(A) H=fes
(B) wifew
(C) T«

(D) 9 T STAT T

f=faRes O @ -1 ys8 T T"
%! TEl AT, TR |

(A) T8 = ST T
(B) el
(C) forig

(D) UFR

MKG-XVTECHPET/1T/03

120. §A @ & 30 9% 1 AW FATC Fored s
% 1¢ o IUER Bq AT R ST R |

(A) S
(B) HIS = AEHTEE
(C) TTRGISH JUFTES
(D) faTe

121 3Tk TR A1 ASHL
1 Tl oY G A T AT R |
(A) SIS T'd

(B) ey

(C) HIEATcHS HE*

(D) ¥&d

122, T0fer SR ST EIREE
AT S |
(A) &=
(B) Af&T=h
(C) SATeHT
(D) ¥R

123, Wifersr sy AiEuRE & st
TR |

(A) STTeRfSH
(B) wrasfierar
(C) HaArd
(D) S

-25-



124.

125.

126.

127.

Exercise is a must for good
(A) Body tone

(B) Social skills

(C) Physical skills

(D) Health

Exercise has been proven to
(A)
(B)

Increase bone mass

Reduce cardiac injury during a
heart attack

(C)
(D)

Reduce the risk of diabetes

All of the above

Which is not a component of health
related physical fithess ?

(A) Flexibility
(B) Balance
(C) Cardio respiratory fitness

(D) Body composition

The concept of wellness includes
(A) Angina

(B) Intellectual health

(C) Skill related fitness

(D) None of the above

128.

128.

130.
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Total wellness can only be achieved

by the balance of

(A) Physical, intellectual and social
health

(B) Emotional, social and spiritual
health

(C) Spiritual, physical and intellectual
health

(D) All of the above

Wellness includes all of the

following EXCEPT
(A) Spiritual health
(B) Occupational health
(C) Environmental health

(D) Physical health

A key to achieving success in any

improving physical fitness is
(A) Specificity

(B) A good trainer

(C) Access to gym equipment

(D) Goal setting

=
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131. Ball and socket types of joint is
(A) Fixed joint
(B) Uniaxial joint
(C) Bioaxial joint

(D) Tri axial joint

132. Increase in muscle mass due to
heavy weight training is called

(A) Muscular hypotrophy
(B) Muscular hypertrophy
(C) Muscular atrophy

(D) Haematoma

133. The functional division of spinal
cord is

(A) Somatic motor
(B) Somatic sensory
(C) Visceral motor

(D) None of the above

134. How many major salivary glands
are there in the human body ?

(A) Two
(B) Four
(C) Six
(D) Eight
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136.

137.

138.
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Which artery carries the supply of
blood towards heart ?

(A) Carotid artery
(B) Coronary artery
(C) Pulmonary artery
(D) Radial artery

Scoliosis is a postural deformity
related with

(A) Foot
(B) Leg
(C) Vertebral column

(D) Homnd

The back thigh muscles are also
known as

(A) Hamstrings
(B) Gluteal
(C) Gastrocnemius

(D) Quadricep

In the technical terms, muscle pull
is known as

(A) Sprain
(B) Strain
(C) Abrasion

(D) Confusion



L o
i

131. ST 3R Hlhe ThH F1 51T 2

(A) 3T ST

(B) ThylH Sire
(C) fegfa e
(D) Frgdasie

182, il g5 giRrer & s 7rau e &
IR R [ FEAT 2 |
(A) HigUeiE Toagfe
(B) wrauzfi afyfee
(C) wredsfiar srgfee
(D) o

133. %Ly I FHETHS fIdoH 8 ?
(A) IR 9

(B) Iifes Hadh

(C) T I

(D) 3 H Y & T8

184, HHa YRR 4 g&g r ufiat o € 7
(A) @
(B) =
(C) ®:

(D) 13

135.

136.

137.

138.

-29-

MKG-XI/TECHPET/1T/03

- gH- 7S 1 WYL e
HA T 7

(A) HUfes amdt

(B) =R gwl

(C) P gwl

(D) saat awi

ThITCTATES

T AT fernfa R
(A) W

(B) 2m

() {"

(D) TMHS

q gefed

el sita i nraufRmT
ft FEcare 2

(B) T@

(D) ferggan



vy MKG-XVTECHPET/1T/03 _

139. Which is the smallest bone of the Lt VEGEOIER

human body ? (A) An infectious disease

(A) Pisiform (B) An virus

(B) Scaphoid (C) An antibiotic

(C) Stapes (D) An antiviral

(D) Malleus

144. Annual worldwide incidence of
140. One of the following is an excellent cholera is

example of condyloid joint. (A) 1—2 million

(A) Shoulder joint (B] 1=3 milion

15 Al (C) 1 -5 million

C) Wrist joint
(C) rist join (D) 3 -5 million

(D) Neck joint
145. Polio is known as humans haunt

141. Tuberculosis (TB) is an example of after eradication of
(A) Pandemic (A) Tuberculosis
(B) Prodemic (B) Measles
(C) Endemic (C) Chickenpox
(D) Epidemic (D) Smallpox
142. In tuberculosis, bacteria usually 146. Total pandemics have been caused
attack by cholera virus
(A) Skin (A) 6
(B) Lungs (B) 5
(C) Heart C) 7
(D) Limbs (D) 8

% -30-
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146.
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147.

148.

149.

150.

Infectious diseases include
(A) Malnutrition

(B) Cystic fibrosis

(C) Retinoblastoma

(D) Tuberculosis

Variola virus has been known to
causes

(A) Malaria
(B) Measles
(C) Smallpox
(D) Chickenpox

In humans, cholera virus mainly
affects

(A) Sméll intestine
(B) Large intestine
(C) Liver

(D) Stomach

Vaccination is a major control
measure for

(A) Infectious disease

(B) Genetic disease

(C) Long term degenerative diseases

(D) Deficiency diseases

=39-
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154.

MKG-XVTECHPET/1T/03,

The deficiency of which of the
following group of nutrients affects
the skin ?

(A) Iron, lodine, Zinc, Potassium

(B) Riboflacin, Niacin, Pyridoxine,
Pantothenic acid

(C) Vitamin K, Calcium, Flourine,
Copper

(D) All the above

What are the effects of Vitamin B
deficiency ?

(A) Beriberi
(B) Scurvy
(C) Dermatomyoma

(D) Certain types of Eczema

In method of health
education people learn by exchanging
their views and experiences.

(A) Syposium
(B)
(C) Roleplay
(D)

Workshop

Group discussion

When was WHO founded ?
(A) 7™ April 1948

(B) 7" April 1958

(C) 17" April 1945

(D) 7" April 1940
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156.

157.

158.

First Director General of WHO
was Canadian Physician Brock
Chisholm, he served from

(A) 1945 to 1958
(B) 1940 to 1953
(C)
(D)

1943 to 1950
1948 to 1953

Who is the Director General of
WHO ?

(A)
(B)
(C)
(D)

Dr. Brock Chisholm
Dr. Morrgeret Chan
Friedrich John

None of these

What is the name of disease in man
arising out of vitamin B, deficiency ?

(A)
(B)
(C)
(D)

Scurvy

Pellagra

Beriberi

Gingivitis

What does vitamin K deficiency
lead to ?

(A) Problem in digestion

(B) Problem in blood circulation
(C) Problem in calcium metabolism

(D) All the three

159.

160.

161.

162.
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Using purgatives on a regular basis
is harmful to health which deficiency
does it cause ?

(A) lron

(B) Potassium
(C) lodine
(D) Chromium

Night blindness drying of the
conjunctive, dry and scaly skin and
loss of hair are some of the symptoms
of

(A) Vitamin K deficiency
(B) Vitamin A deficiency
(C) Iron deficiency

(D) Folic acid deficiency

At first how many sports institutes
introduced ?

(A) 400
(B) 300
(C) 200
(D) 500

Who started Physical Education ?
(A) Friedrich George

(B) Friedrich John

(C) George David

(D) None of these
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163.

164.

165.

166.

Name the major awards of sports.
(A) Rajiv Gandhi Khel Ratna Award
(B) Lawrence Olivier Award

(C) Nehru Trophy Award

(D) Coretta Scott King Award

How many medals did P. T. Usha
win at the X" Asian Games’ ?

(A) 1
(B) 4
(C) 5
(D) 3

P. V. Sindhu was recently in news
associated with which of the following
sports ?

(A) Hockey
(B) Badminton
(C) Race

(D) Wrestling

Who was the 1% Indian woman to
climb the Mount Everest ?

(A) Bachendri Pal
(B) Helen Keller
(C) S.V.Sindhu
(D) None of these
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Who is the author of the book “Law
and Sports in India Development,
Issues and Challenges” ?

(A) Friedrich John
(B) Adam Smith
(C) Mukal Mudgal

(D) None of these

Who is the first Indian to take a
hatrick in an international test ?

(A) Sachin Tendulkar
(B) Virendra Sehwag
(C) Rahul Dravid

(D) Harbhajan Singh

In which year Asian Games started ?
(A) 1950
(B) 1951
(C) 1952
(D) 1953

Who is the Chairman of Sports
Authority of India ?

(A) Rajyavardhan Singh Rathore
(B) Sandeep Pradhan

(C) V. K. Malhothra

(D) Baichung Bhutia
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172,

173.

174.

Psychology is known as
(A) Scientific study
(B) Science of soul
(C) Nature science

(D) Science of human

The word ‘Psychology’ comes from
the

(A) Latin word
(B) Spanish word
(C) Greek word
(D) Chinese word

According to
“Psychology was understand by the
science of mind.”

(A) Modern Psychologists
(B) 18" Century
(C) James Sulley
(D) Earlier Psychologists

Which of the following is a law of
learning ?

(A) Law of Readiness
(B) Law of Exercise
(C) Law of Effect

(D) All the above
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177,
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The therapy of Psychoanalysis was
developed by

(A) Skinner

(B) Sigmund Freud
(C) Plato

(D) Darwin

Reinforcement theory of motivation
is given by

(A) Jung

(B) Herzberg
(C) Skinner
(D) Maslow

Law of effect learning was started
by

(A) Paviov
(B) Thorndike
(C) Skinner
(D) Gestalt

The two factor theory of motivation
is given by

(A) Maslow
(B) Jung

(C) Alderfer
(D) Harzberg
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179. Father of Psychology is 183.

(A) Sigmund Freud
(B) Ivan Paviov
(C) John B. Watson

(D) Wundt

180. Encouragement by spectators is a 184.

(A) Social incentives
(B) Monetary incentives
(C) Reward incentives

(D) Social competitive incentives

181. Exercise is often described as

training and should include 185.

(A) Exertion of the lungs
(B) Exertion of muscles
(C) Exertion of the heart

(D) All of the above

182. Isometric exercise is the one in 186.

which muscle length is
(A) Constant
(B) Shortened
(C) Lengthens

(D) None of the above

* -40-
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‘Speed Play’ is also known as
(A) Weight training

(B) Pressure training

(C) Fartlek training

(D) Interval training

Tactical training is done
(A) After skill are mastered
(B) Before skills are mastered

(C) Both tactical training and technical
training are done side by side

(D) All the above

Transition period aims at

(A) Stabilization of performance
(B) Super compensation

(C) Recreation

(D) Recovery

Social contact theory of play was
postulated by

(A) Brand S. Mason
(B) G. Stanley Hall
(C) Lumley

(D) Patricks
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187.

188.

189.

190.

By which of the following means
do we acquire values, beliefs and
behaviour ?

(A) Socialization
(B) Culture
(C) Recreation

(D) Physical Education

The cause of frustration among
sports person is

(A)
(B)

Result of own performance

Normally due to mismaiched level
of aspiration and ability

(C)
(D)

Result of good performance

Natural outcome of competitive
sports

During adolescence, the behaviour
of a person is influenced by

(A) Family
(B) Peer group
(C) School
(D) Society

Psycho-sexual development takes
place during

(A) Later childhood
(B) Adolescence
(C) Young age
(D) Adulthood

1945

192.

193.

194.
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Generalizations used to define and
judge all individuals in a particular
racial category

(A) Power/performance
(B) Stereotypes

(C) Social construction
(D) Ethnicity

Training is a universal teaching-
learning phenomenon and its aim
for an athlete is

(A) Physical conditioning
(B) Health and fitness
(C) Muscle energizing

(D) Performance-enhancement

Which of the following is no
objective of the sports training ?

(A) To accelerate athletes growth and

development process

(B) To make athletes dream about

winning only

(C) To bring about change in athlete’s

attitude, habits and behaviours

To make the athlete highly skillfull
technically and tactically

(D)

When the training load is neither
too low nor excess of an athlete’s
capacity, it is called

(A) Normal load
(B) Crestload
(C) Optimal load

(D) Maximum load
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195. The duration of one macro-cycle of 198. The training must be specific not
sports training is only to ones sport of choice but also
(A) 12 months to ones individuals
(A) Liking

(B) 10 months

(C) 8 months (B) Aptitude

(D) 6 months (C) Interest

(D) Abilities
196. In which of the following sports
events is interval training found 199. In connection with athletic training
least effective ? the biological principle of use/disuse
(A) Cycling simple implies that you

(B) Swimming (A) useitorlose it

(C) Gymnastics (B) make it or break it

(D) Track events (C) have it or Skip it

(D) do itor forget it
197. Which of the following techniques

stresses on “Programmed phases 200. Which of the following is not a

f wo recovery” ?
of work and recovery component of Warm-up ?

(A) Interval training
(A) Stretching
(B) Continuous method
(B) Calisthenics
(C) Fartlek training

(C) Formal Activity
(D) Acceleration runs

(D) Plyometrics
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(A) 12 7ER

(B) 10 HEHR

(C) 8¥ER
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(A) STcTet HfSTagor
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(A) wEE

(B) shivred
(C) AN
(D) Tmmed
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T TR &

(A) ©r=r

(B) Hfcredfem

(C) 3= Tidfar

(D) TEHH
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Ieiganri % foru agwagut s

This booklet contains 48 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask the
Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle

should be shaded completely without leaving
any space. The correct method of shading

is given below.

Wrong Method Wro% Methad || Wrong Method || Correct Method

0&® 00O Q@O OO

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
guestion. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If you
blacken (®) more than one circle against any one
question, the answer will be treated as wrong.
If you wish to cancel any answer, you should
completely erase that black mark in the circle in
the Answer-Sheet, and then blacken the circle
of revised response.

A machine will read the coded information in the
OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for rough work given in the Question
Booklet only and not on the Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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